T\me\ \es )m/bl% a/fgl
D@\’\DNF&-’LWM&/ Lt heotew

Xmmo\lPlél}/, wih o M Nocanee @
| —L**Mm/zo‘l

Z shuducd mocmal RY. (hos man 0 veur i 1)
hos  PDF

_ 1 XA
“S:«Z.(X) = e
DF A D s culed &

800 - LY eMay e sl
Qi Wit cbod (DF o K | o, 6

B 00 = é;r f ; SOy
A Ry be campuded & hrms of &

Cam—



Tor any ond om Vadahle X with
EiX[=m  ad \/NO(>= o

DQ£h6 L= X;{:f
|
Elz[=0
SRAT ) R
Nor () = | .
Ner () = EL 2] = EL‘%}%&@W]
= — VNOQ =

fl X=©‘7/T/w ko candowm veyudrle

with ED(’L:/\& \or O&) = 0"

¥ X z»%a/v‘?j rendor Vertwle  Hun

7/, = X_é_ﬂi Wl be alled do SWWM
g3



:J:-f' 73 wM i Mrm% Com VO(\'(,\Q(E

(w&%\,\ rmean O D ond Voronee |
Hon \](—; G‘(Z‘UW L[samr__w___w\/] random vev iy
WA maan M wd Yottt

Cm\wgaha X & noemal  wdh weam (1
Vevmvwc 0"7’ A,

Z:%& us/\,orer nean O VM‘W/

Prol T maml 2 X v

CPF of X= K (2)= Pix <2l
=PYoZ4p <xf
=?{2 < L]
= 5 0E) = T(F)

So ) =T(E)  (uy cschl)
'Dmi%a fowctin € X ‘S:)Q('L)
£ 0= TR = g () &




V|
L (VA
_\gxw—@ﬁ ° -
l /OK")L)/IO“‘L

= =0

So X5 rowna | wbh rem pt awd voriana o
MPATiw 1T 0 AN
&MXEQM\'E@WL“WM Lor narvl Ver

For omy veralie X ot POF L OF F,
PIaghebl = g °t (0)dy = R -F ()

C shudecd mma]  RY.

0T acT < b = B 1) D)
Syramttves hell e

) NN

7o) ¢ Aok LS o (k)
P = [- 3 (x)




Alss § (-x) = 1- )

(Table of valneson 9.300 b B(X) for
% 20, Use ‘HMS alnt #oﬁ{fwt}
300 for m“T

EL K el w/ ,MB )f’z@[ 5=3
Q PL1Lex<T{ = ?{ (x_s . 53§
2

= p{-L 7 <2
LC‘) —9(‘@)
g@ﬁjglﬁUﬂ
S )+ TLL) -] = B+ 3]
= 3139
Q: K mimal w/ Mmoo
?Uﬂ <7@<}~+o‘zg = ‘P(“{.—.’i (57, < &%jﬁ{
- Plo <z i =B )-T0)
= 3412




De Moyt "LM\D\O\U/ Lyt g pcam
(ggeoiomsbing Linsemial RY. by Noos| R

S = Bihombd \o\(/ ?NIAW"U);‘U'S n /P

(S, =% ‘f(s&ccc%vh n Frials )
P(suctess )= P

Masn ‘E{,ghl = np \/Mcgv\>= V\FU—P)
Stunderd e

J\rvvv;(l\w% \'%W\OM/\/OWJVW(@"L

Sn-np , Stwdecd V\TSVM] as h->N
s0 6=
Snglp) (tr

i n W
Pla St ¢b{w placz <bf =B(6)-46)

nPU—p)
P\s mm\b anle’\‘w s 8‘9% r:? y\P (l PB>




Buomfy,  Faie (p- 5) wn bfligd 10
SR AVT:S

Ust racmal apgrox 4o ompmb P(X=20)

Wog, - pfyc-p0s P = 2022) . p(T0)
= 3)-(0) =0/

CONTINUTTY = use hal€ - Indegors in negumlity
P(r=10) = P{ﬁs’quuﬂ;i

— f{m’s-w <7, <w5—)ﬂo{

o o
= Pla,lé < |é§
= \11L

orach (9] (1)°= .54



